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(1) Final Revision - Geometry - 3".Prep - First Term

Geometry - Final Revision - Rules

m Trigonometry J

Lesnsfidh

- Rt‘llll'llll)t'l' Fhe nuain trigonometrical ratios of the acute angle and the important relations between then
p—

The trigonometrical ratios of the angle A | - The trigonometrical ratios of the angle C |
C

Opposite _ AB
Hypotenuse AC

Adjacent  BC
Hypotenuse AC
Opposite _ AB
Adjacent  BC

esinC=

Adjacent — AB

Hypotenuse ~ AC
_ Opposite  BC

| A AT | =

| Some important relationet)

ecOsA= ecosC=

etanC=

e Ifm(LZA)+m(£LC)=90° sthensinA=cosC seosA=sinC
elfsinA=cosCorcos A=sinC sthenm(ZA)+ m(Z C) =90°

\
- -

~eseti il

o Remember Fhe triconometrical ratios of some angles
T

wotice that }

If cos § = 0.7152 5 then we use the calculator to find @ by using the keys as the

following sequence from left : [ = I I IGIEIEIE]
Then § = 44° ?ﬁ 23
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Analytical geometry ]

- e I

Fhe important laws

The law of the distance between the two point A - B [rhr: length :}fﬁ) :

AB ='||r[differencﬂ between X -coordinates)” + (difference between y—coordinates)’ .

The law of finding the coordinates of the midpoint of AB :

— XK, ¥ Y,
The midpoint of AB=(——5— »—5—)

11 =

The law of finding the slope of the straight line AB

0

— H-i_-nu-nll'u_'r
[

s o fimdd the slope of the straigh T

Given two points on the line as :
A{I] v Y l}uB{IE-}'E}

Given the measure of the positive angle which the straight

line makes with the positive direction of X-axis »say 8

m=tan 8

L=

Given the equation of the straight line in the form :

y=bX+c

{m=hWMW

b is the coefficient of X

Criven the equation of the straight line in the form :
aX+hbhy+c=0

_ —coefhiceent of X
~ coefficient of y

—

=

Given the slope of the parallel straight line to it » say m,

m=m, because the two

slopes are equal.

Given the slope of the perpendicular straight line to it »
say m,

=]
m = — because :
m

2
mxm,=-1l




S

M Important remarks on the slope of the straight line J

'@ The slope of
X-axis=0

| @ The slope of the

b/

| straight line parallel
to X-axis equals 0

| e The slope of y-axis

is undefined.
e The slope of the e

straight line parallel to

y-axis is undefined.

.

| * The slope of the straight
line which makes an

acue angle with the

LN

X

positive direction of E
'\
X-axis is positive. -

-

(o The slope of the straight Loy
line which makes an \
obtuse angle with the

N\

CRE X
positive direction of )

N
¥ of X-axis

X-axis is negative.

\

'« The two parallel straight

lines their slopes are

equal.

ie IfL, /f L2 s then m, =m,

o The two perpendicular straight 1,
lines the product of their
slopesequals — 1

ie IfL, J.L2 sthenm, xm,=—1

et n BN

M Remember

1L

Fhe equation of the straight line

e The equation of the straight line whose slope = m and cuts y-axis at the point (0 s¢) is :

y=mX+¢

| For example :

** The slope =3

-2=3x1+c

e The equation of the straight line whose

Slope is — 2 and cuts from the positive part of y-axis 7units is : y == 2 X + 7
o To find the equation of the striaght line whose slope is 3 and passes through the point (1 s—2) :
.. The equation of the straight lineis: y=3 X +c¢

s then substitute by the point (1 s - 2) to find the value of c as the following :

sthen:¢c=-35

.. The equation of the straight lineis: y=3 X-35
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- |lII|J-DI!.iII’I remarks on the eqguation of the straizhi |:IIII

= - =

@) The equation of the straight line which passes through the origin point O (0 +0) is ;
¥ = m X where m is the slope,

9 The equation of X-axis is : y =0 and the equation of y-axisis : X=0

ﬂ The equation of the straight line parallel to X-axis and cuts y-axis at the point (0 s c) is :
g

@) The equation of the straight line parallel to y-axis and cuts X-axis at the point (a » () is :
X=a

sassiil
Remember Soine rules amd remarks which belp vou o solve the ¢xencises

11." =

d To prove that the points A - B and C are cul]inearJ

We will prove that : C B A
» The slope of AB = the slope of BC or « AB + BC = AC (where AC is the greatest length)

9 To prove that the points A » B and C are vertices of a triangle |

e prove that :
» The slope of AB # the slope of BC
or » AB + BC > AC (where AC is the greatest length)

6 To determine the type of the trisngle ABC according to its angle measures |

We compare hctmn (AC f +(ABY + (BC)* whl::n: AC is the longest side »if ;

WA | =7

(AC) < {AB} + I{H'L] (AC)" = (AB)* + (BC) {FLC) > {AB] + '[EC]
s then ; » then : s then :

A ABC is acute-angled. AABC isright-angled at B | A ABC is obtuse-angled at B
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é To prove that : the quadrilateral ABCD is a trapezlumJ

- We prove that :

IThesIopeofﬁ:theslopeof.B_C.slhen-A—ISIIB—C / \
s the slope of AB # the slope of DC »then AB is not parallel to DC &

6 To prove that : the quadrilateral ABCD is a parallelogramJ

+ By using the slop; 9.WC prove that :
The slope of AD = the slope of BC »then AD // BC
s the slope of AB = the slope of DC s then AB // DC

« By using the distance between two points » We prove | that :
The length of AD = the length of BC s the length of AB =the length of DC

« By using the coordinates of the midpoint of a line segment ; we prove that :

The coordinates of the midpoint of AC is the coordinates of the midpoint of BD ,
then : AC » BD bisect each other.

Q To prove that : the quadrilateral ABCD is a rectanga

First we prove that : the quadrilateral ABCD is a parallogram by one p
of the previous methods » then

prove that :

« AC =BD (By using the distance between two points)
—_— — C

or « The slopc of AB x the slope of BC = s then: AB L BC

A - » N 2 .3 BA IR =

é To prove that : the quadrilateral ABCD is a rhombus ]

* First we prove that : the quadrilateral ABCD is a parallelogram » then
Prove that :
» AB = BC (By using the distance between two points)

or e The slope of AC x the slope of BD =~ 1 5 then AC L BD /

* We can prove that the quadrialateral ABCD is a rhombus directly by using the distance
between two points
we prove that :
AB=BC=CD=DA
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ﬁ To prove that : the quadrilateral ABCD is a square |

* First we prove that : the quadrilateral ABCD is a parallelogram » then
(5]

prove that :
» AB = BC (By using the distance between two points)
and the slope of AB x the slope of BC =- 1 sthen AB L BC

or « AC = BD {(By using the distance between two points)
and the slope of AC x the slope of BD =- 1 then : AC L BD
* We can prove that the quadrilateral ABCD is a square by using the distance between two points

we prove that :
AB = BC = CD = DA + then the quadrilateral 15 a rhombus » then

prove that : AC = BD

ﬁcﬁrrwe that : the points A s B s C lie on one circle of centre M]

By using the distance between two points

we prove that : MA =MB = MC

Rules And laws

Area of rectangle Perimeter of rectangle Area of square
m /}\ Area
Width | Length\ . _“=w)] 2N, 7 L

Perimeter of square Circumference of cirele Circumference of circle

B % el she Law] mik

Volume of Cuboid Volume of Cuboid Area of triangle

L \\\' H\. _~ BA HN. 05 B[ H N
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Lateral area of Cylinder Volume of Cylinder Volume of sphere

r H \ /TC r H \ /I."S n r
SHAPES AND SOLIDS

RECTANGLE CIRTLE

-

P o= g+ Zh
A =ah |

Fi]

o A

TRIANGLE PARALLELOGRAM CIRCHLAR SECTOR

=g+ hde 1 1 B TR

\ d ;ﬂ-_ f’
4 =ém: | ; A = b ; = s,
: - \ A=t LI L

PYTHAGCOREAN THEDREM CIRCULAR RiNG SPHERE

\
,/

' v | - — ¥ T - .
at+pi=p? ey A =T 5 5 =dmr

.
—5 v 2 = ; dnr

2] 3
C=d=+0° - | = : V= 3

TRAPEZOID RECTANGLLAR BOX

E=pmp+b+r+d A=Zoh+ Iect 2be
[ V = pbe C
P A

o)
-

EYLINDER

A = Mrrlr + k&
Ve mrih
‘ FRUSTUM OF & CONE
V= .—;.ITJI[T' LR 4+ B4

=l

s

! - )
The Best Online Calculator
UnizComerter Pofynomial Root Solver
RPMand Algebraic Mode Simultanecus Equation Sober

Constants Library Complex Numbers.
Decimal 10 Fraction Free Online and Dovwnlcadabls

eCale.com The Best Source for Math Help Reference Sheets
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[ A] Choose the correct Answer :

Ifn:]l—_ur]?

1 4
(h) ‘.ﬁ {d) 3

2 sin 30° = v

{a) sin 45° (b} sin 60* {c) cos 3P {d) cos 607

tan 45% gin 30® = .ovvenennnen
1 L 3
(a) 3 f | Lind

.j

-

2510 30° cos 30° =

(a) sin 60° (d) tan 30°

4 eos A tan 60° =

(ah3 (d) 12

sin 30° + cos 60° 4+ tan 45° =

(a) =2 (b) I (c) 1.5

12 tan 45° = '.m.. N A )
cis Bl
(a) zero (b '21’ (c) g (d) 1

Ifsin X = :]} where X is a measure of an acute angle s then X =
(a) 90 b} 6l (c) 45 () 30

If sin X = % » where X is an acute angle. SN2 X =i
3
(a) 1 (b) 2 © 3 (d) g

W If cos X = —é where X is an acute angle » then X =i
(a) 30° (b) 60° (c) 90° (d) 45°
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If sin X = | where X is an angle sthenm (£ X)= o
(a) 30 (b} 60 (c) 45

[fcos2 X= é- » X is the measure of an acute angle sthen m (£ X) =
(a) 15 (b} 30 {c) 45 () 60

3
If tan TI = | where X is an acute angle s then m (£ X) = -oovveerees

(a) 10° (b) 30° (c)45° (d) 60¢

Iftan 3 X =1 s where X is an acute angle »then 3 X = ..
{a) 15° (b} 20° (c) 45°

If tan 31’=ﬁwh¢rﬁﬂxisanauut: angle » thenm (£ X) =
{a) 10 (b} 20 (e} 30 (d) 60

It tan (X + 15%) :ﬁwhert X 15 an acute angle sthen m (£ X) = oo
(a) 15° (b) 30° (c) 45°

f sin 30° = cos 8 where 8 is an acute angle sthen m (£ 8) =
ia)45° (b) 10° () 60°

If sin X = cos 30° where X is an acute angle »then m (£ X) =
{a) 10 (b) 30 (c) 45

InAABC »ifm{£ A)=85sinB=cos B sthenm (£ C)= e
{a) 30 {b) 45 (c) 50 (d) 80

In AABC sifm{£ By =90° sthensinA+cosC= s -
{a) 2 sin A {b) 2 sin C {c)2sinB (d) 2 cos A

rl“ﬁhBCifm‘:iB}:%:,Einﬁ=% sthen sin C = vereeeveen
4 3 3 5
(a) 3 (b} 1 {c) 3 (d) 3

If ABC 15 a right-angled triangle at B » then E% =
ia)cos C (b)) cos A {c)tan C (d) tan A
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InAABC sif m(£ B)=%° sAB =3 cm. s BC =4 cm. s then sin A cos C = v
(a) 1 (b) 3¢ (© 4 @ 18

The length of the line segment which is drawn between the two points (0 s 0) » (3 » 12)

(e) 12 {d) 13

) The distance between the two points (5 +0) » (0 » 12) equals length unit,
(a) 3 (b) 13 (c) 17

' The distance between the two points (5 - 0) » (0 s - 12) equals length unit.
(a) 12 (b) 13 (c) 17

The distance between the point A = (2 ;- 5) and the point B = (5 5 - 1) equals
unit length,

(b) 2 {c) -5 (d) -3

If A=(0+0) »B=(3»4) »then the length of AB = length unit.
(a)3 (b} 4 {c) 5 (d) 6

) The distance between the point (4 » 3) and the origin point equals units.
(a) 3 (b) 5 (c)4 (d) 7

The distance between the point (— 3 » 4) and the point of origin equals -
(a) -3 {b) 4 (c)5 (d)—3

The distance between the point (3 »~ 4) and the origin point equals
unit length.

(a) 3 (b) 4 (c) 5 (dy7

The distance between the point (3 » - 4) and X-axis = length unit.
(a) 3 (b) 5 (e) 4 (d)—4

| The distance between the point (4 + — 3) and the X-axis equals length unit.
(a) -3 (b) 3 ik
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The distance between the point (2 »— 2) and the y-axis = length unit.

(@) -2 (b) 2 242 (d) 4

If the origin point is a centre of a circle of diameter length 6 length unit » then the

point which belongs to the circle is
(a) (6 5 0) (b) (0 »— 6) ) (V8+1) @(1,73)

If the distance between the point (a » 0) and the point (0 » 1) equals

one length unit » then a =
{a) -1 b))

The points (— 3 5 0) 500 » 3) 5 (3 +0) are the vertices of
(b) an equilateral triangle.
(d) a nght-angled triangle and 1sosceles.

(a) a scalene triangle.
{c) an obtuse-angled triangle.

IfA(l s2)and B (3 + 4} » then the coordinates of the midpoint of ABis ...
(a) (1 +3) (b) (3 ,3) () (2 2 3) (d) (3 +2)

The coordinates of the midpoint of the line segment joining the two points

(3a—B)s(=3+4)is
(a) (0 »—4) (b) (0 »—2) () (0 +4) (d) (D 2 2)

fA=(=112) sB=(52-2) » then the midpoint of AB =
{8} (2 +2) (b) (2 +0) (€)(3+2) (d) (4 + 0)

}HE is a diameter in a circle where A (3 2+ —5) and B (5 2 1} » then the centre of the
circle is
(a) (4 . =2) (h){442) (C) (2 +2) (d) (B »2)

)ABisa diameter in a circle where A(3 +6) + B (5 » = 2) + then the coordinates of the

centre of the circle are
(a) (4 ,2) (b} (4 +6) (c) (B +4) (d) (2 +8)

y If the point () +4) i3 the midpoint of the two points (— 1 +— 1) +{X » ¥) » then the poin

@) (1 +9) (b) (=1 +9) ©@(5:3) @13
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VIf (4 3— 3) is the midpoint of AB where A {3 +—4) + then the coordinates of B is
(a) (5 1= 2) (b1 (2 +5) (c)(512) (d} (3.5 ,—3.5)

The slope of the straight line which is parallel to the X-axis 1s
(a) -1 (b} zero. () 1 (d) undefined.

1 The slope of the straight line which is parallel to the y-axis is
{a) - | {b) zero (c) 1 {d) undefined.

) Slope of the line which makes with the positive direction of the X-axis angle of
measure 8 equals oo (where 8 is the posiive measure)

{a)sin B (b} sin® @ (c)tan B (d}cos @

The product of the two slopes of two perpendicular lines équal to

Wl (b) = ©1 (d) -1

—

If AB// CD and the slope of CD equals X, then the slope of AB equals .o

| : 1
7 e el 0 3
(a)—-2 (b} 2 (c) 3 dy 2

i

yIf AB // CD and the slope of AB = %— s then the slope of CD equals
(@5 ® = © %

nlfﬁlﬁﬁmdthcslmurrﬁ= ' -rlhtﬂ!lltﬁlﬂptﬁ:
J ) 3

\1f AB L CD »and then slope ﬂfEE:Jf » then the slope of DC =

(a)—2 (b} 2 c) % (d) ‘2'

VIFLM L EO o E (=1 52) s O (00 +0) » then the slope of LM equals

(a) -2 () =L (©) 5 (d)2

If ‘Tf s }% are the slopes of two parallel straight lines » then k =

(b) © 4 @3
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lf% » = are the slopes of two parallel straight lines sthen k= oo
O ® 3 (c)2 (d) -2

If the two straight lines L, » L, are parallel and the slope of L, = 3

4
s then the slope of Ly = «vooveieeens
4 q 3 3

The slope of the straight line whose equation : 2 X =3 y 4+ 5 =0 eguals oo
-3 2 E
fajT : (c) 3 (d) 5

' The slope of the straight line whose equation is ' 3 y =5 -2 X equals
-3 2 -2 -
() 5 (b) 3 (c) % A 3

'The straight line passing through two points (— 1 s— 1) s (4 »4) makes positive angle

with the positive direction to the X-axis an angle measure = -+-evevie.®

(2) 30 (b) 45 (c) 60 (d) 135

If the equation of the straight lineis:a X —by +c=zero +b 20
s then its slope m =

b - b i
@2 | (=2 @4

B

The straight line whose equation 15 : X — 3 y — 6 = 0 intercepts from the y-axis
a part of length oo

(a) -6 (b)—2 © 5 (d) 2

The straight line whose equation is : 2 X — 3 y + 6 = () intercepts from the
y-axis a part of length - s
{a) 6 (b} 4 (c)y2 {(d)-6

' The line whose equation : 3 X+ 4 y — 5 =0 intersects a part of y-axis its

(2) 5 (c) % @
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The straight line whose equation is : 2 y — 4 X = 6 intercepts from the y-axis a part of

{c)4 (d) 6

) The straight line whose equation is : 3 y = 2 X + 6 cuts a part from the y-axis with
length equals -------------- unit of length.

(a) 6 (b) 3 ()2 (d) %—

yThe line : 2 y =3 X + 12 cuts from the y-axis part of length - .onnits.
(a) 12 (bl 3 {cl2 (d) &

The equation of the straight line whose slope 1 and passing through the origin

(C)y==X My=X

The equation of the straight line whose its slope = 2 and passes through
the origin point is

{a) X=12 Cly=2X diy=-2X

The equation of the straight line which passes through the origin point and
its slope = 3 is

@y=3X (byX=2 (c)y=3 £d:|y=J3_

The equation of the straight line which passes through the point (2 + - 3) » parallel to
X-BXI8 18 (.

(a) X==-2 (byy==3 c)Xx=2 (diy=3

If the two straight lines : 3 X -4 v =3 =0 s ky + 3 X — B =0 are parallel

(a)—4 (c)3 {d) 4

| The two straight lines : X+ vy =3 sk X+ 2 y =0 are parallel when k =
(a) 2 (b) -1 (e} 1 (d)-2
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If the two straight lines : X + y=53and k X + 2 y =) are perpendicular

(c)—1 (d) -2

If the straight line whose equation : X + 3 y — 6 = () is perpendicular to the straight line
whose equation ta X -3y +7=0,thena =

(a) 2 (b)9 (c)4 (dy 1

Af the two straight lines : 3 X -4y —-5=0and k X -3 y + 8 = 0 are perpendicular »

(a)—4 (c)3 {d)4

The area of the triangle in square units which is bounded by the straight lines
3X=4y=124,X=0,y=0equals --coccoceeec
(a) 6 (b) — 6 (c) 12 (d)-12

OABC is a parallelogram where A (5 5 2) Bifish)

B (6 + &) » () 15 the origin point.
{1) The courdinates of the point C =
{a) (2 + 5) (b)(1 +3)

(e} (1 »6) (d) (2 +6)
length unit,
{a) 5 (ch8 (d) 10
(a)tan m (£ AOD)=
{a) 0.3 ich 0.6 () O
() The equation of OC is
(aly=6X My=-6X Chy=X d)y=-X
(8) The equation of the straight line passing through the origin point and perpendicular to

M)y=4x ©y=-2Xx  (@dy=-3X
(BYcosm (£ Bﬂ]’_‘p} o e g
(a} 0.8 {by0.7 (c) 0.6 (dyo.4
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Choose the correct Answers

Sn.| Answer

Sn.

Answer

Sn.

Answer

Sn.

Answer

21

A

41

61

D

22

42

62

23

43

63

24

44

64

25

45

65

26

46

66

27

47

67

28

48

68

OO (N[O DW=

29

49

69

-
o

30

50

70

31

51

7

-
N

32

52

72

-
w

33

53

73

-
N

34

54

74

-
(¢

35

55

75

-
»

36

56

76

> OO P OEPOOOOIMO OO

-
-

37

57

77

>

-
o

38

58

-
o

39

59

-
-
OO0 OO0 MO ® ®W O(W®W OO >» 00| > > > O

N
o

40

WOOBOIBIOIOIOIPOIP®®®E O O|> O

60

WOOIP IO O P OOOO OO > > > >

78

1)C-2) D
3)B - 4)A
5)D - 6)C
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[ B] Essay Problems : -

ABC is a nght-angled triangle at B where : AB =3 cm. sAC =5 cm.
Find the value of each of the following :

(1) tan A x tan C (2) sin® A + sin® C
2016 Exam (10 ) Question(3)(a)

Without using calculator » find the numerical value of the expression :

cos 60° sin 307 - sin 60° cos 30°
2016 Exam (11 ) Question(2)(a)

Without using the calculator s find the numerical value of the following expression :

2 5in 45° cos 45° + 4 sin 307 cos 60°
2016 Exam (1) Question(2)(a)

Find the value of : sin 45° cos 45° + sin 30° cos 60° - cos® 30°
2016 Exam (13 ) Question(3)(a)

Without using calculator find the value of ; tan- 45% — 4 cos” 60°
2016 Exam (12 ) Question(2)(a)

Without using calculator » find the value of :
|::n-..'r.1 60" + :nsz 0° + 1;.11|1EI 45¢
sin 60 tan 60 — sin 30°

2016 Exam (7 ) Question(2)(a)

| Without using calculator s prove that : cos 60° = cos” 30° — sin® 30°
2016 Exam (2) Question(2)(a)

Prove that : tan® 60° — tan® 45° = 4 sin 30° (without using a calculator)
2016 Exam (4 ) Question(3)(a)

Fﬁlﬂﬂtvﬂlﬂtﬂf.ﬁi{wherﬁxiﬁammﬂmmangh}if:?sinx.-mnzﬁﬂ‘“—.’!tand,'i“
2016 Exam (12) Question(4)(a)

Prove that : sin® 30° = 9 cos® 60° — tan? 45°
2016 Exam (15) Question(2)(a)

Without using calculator prove that : tan 60° = 2 tan 30° + (1 - tan® 30°)
2016 Exam (10 ) Question(2)(a)
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Prove that ; sin 45° cus_ﬁlﬁ" + sin 30° cos 60° = cos” 30°

2016 Exam (12 ) Question(3)(a)

Prove that with_nut calculator : tan 6(° = .—E&

3
I —tan™ 30°
2016 Exam (15) Question (4)(a)

Without using the calculator prove that :

2 cos® 30° — | = 1 — 2 sin® 30°
2016 Exam (5) Question(2)(a)

ABC is a triangle in which s AB=AC = 10 ¢m. sBC =12 em. ; AD LCBtocutitat D
Provethat : (1)sinB+ecosC=14

(2) sin* C +cos” C=1
2016 Exam (4 ) Question(2)(b)

Without using calculator prove that : 2 sin 30° cos 30° = sin 60°
2016 Exam (14 ) Question (2)(b)

If sin 6 = sin 45° cos 30° + cos 45° sin 307 find m (£ 8) where 8 is an acute angle.
2016 Exam (10 ) Question(4)(a)

If sin X = tan 30° sin 60° where X is an acute angle find X in degrees.

s then find the value of : 4 cos X tan 2 X without using the calculator.
2016 Exam (6 ) Question(4)(a)

Find m (£ 8) where 0 is an acute angle : 25m 8 = tan” 60° — 2 tan 45°
2016 Exam (15) Question(3)(a)

If sin X0 = 2 sin 60° cos 30° — tan 45° Find the value of X in degrees

such that : X £[0° ,90°]
2016 Exam (9 ) Question(4)(b)

Find the value of X where : X sin 30° cos® 45° = sin® 60°
2016 Exam (3 ) Question(2)(a)

If sin? 45° = cos E tan 30° find m (£ E) where E is an acute angle.
2016 Exam (11 ) Question(3)(a)
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If 2 cos (X + 15°) =Y 2 where X is measure an acute angle « find (tan 2 X - sin 2 X)
2016 Exam (5) Question (3 )(b)

| Find 8 where 0° < 8 < 90° s if sin 8 sin 45° cos 45° tan 60° = tan® 45° — cos® 60°
2016 Exam (4 ) Question(5)(b)

| ABC is a right-angled triangle at B » if 2 AB =ﬁ AC

Find the main trigonometrical of the angle C
2016 Exam (3 ) Question (3)(a)

In the opposite figure : C

ABC is a right-angled triangle at B -,
5 E
»AC=5¢m. s BC=3cm. &
(1) Find the length of AB [
A B

(2) Find the value : cos Asin C =sin Acos C

2016 Exam (13 ) Question(2)(a)

| In the opposite figure : 3
ABC is a right-angled triangle at C » in which : >
AB = 10 cm. and BC = 8 cm, Find the value of :
(1)tan B x tan A (2)ym (£ B) A —
2016 Exam (1) Question(4)(a)

In the opposite figure :

A
ABC is a right-angled triangle at B
where AB =6 cm. stan C = :} E:
P — =
Find : (1) The length of each of BC 1+ AC
L B

(2)5in A+ cos A

2016 Exam (6 ) Question(3)(b)

In the opposite figure :

A
ABC is a right-angled triangle at B
and mi(L Cl=2m{L A) -« find :
{1) The measure of each £ Aand 2 C
C B

{2) The value of sin A + cos O

2016 Exam ( 9 ) Question (3)(b)
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In the opposite figure : D

ABCD is a rectangle where : AB = 15 cm.
+AC =25 cm.
Find : (1) m (£ ACB)
(2) The surface area of the rectangle ABCD

| In the opposite figure :
XYZL is a rectangle s XZ = 10 cm.
»m (L XZY) =43

Calculate the perimeter of triangle XY Z

Y
2016 Exam (8 ) Question(2)(b)

In the opposite figure : )

ABCD is a rectangle in which :
AB=3cm. sAC=5¢cm.
(1) Find area of the rectangle ABCD

{(2)m (L ACB) C B
2016 Exam (9 ) Question(2)(b)

In the opposite figure :
ABC 15 a triangle n which : AB = AC = U cm.

sBC=12cm, yAD L CB
Prove that : (1) sin° C + cost C=1

(2ysinB+cosC>1 — 12em.
2016 Exam ( 7 ) Question(3)(a)

Find the length of MN when M (7 »=3) s N (0 » 4)
2016 Exam (13) Question(4)(a)

Prove that : the triangle whose vertices A(3+2) s B(-4:1):C(2+-1)
15 & right-angled triangle at C + then find its surface area.
2016 Exam (2) Question(2)(b)
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In the opposite figure :
ABC is a triangle » AD 1 BC s AC =12 cm.
+BC=16cm. and m (£ C) =307

Complete the following :

s Cme
Exam (13) Question (5) (b)

| In the opposite figure :

ABCD is a trapezium in which : AD // BC

vm(LB)=90° +if AB=3¢cm. sAD=60cm.
+BC=10¢m.

Prove that ; cos (£ DCB) —tan (£ ACB) =

2016 Exam (3 ) Question(4)(a)

In the opposite figure :

g8
=]
=

AD /i BC s DH L BC sm (£ By =90°

, A
ABCD is a trapezium in which : lJ
B

+AD=6cm. s AB=3cm. »BC=10cm.

Prove that : cos (£ DCB) - tan (£ ACB) = +

2016 Exam ( 7 ) Question (4)(a)

Prove that : the triangle ABC whose vertices A(l +4) s Bi(~1+-2)+C(2+-3)
is a right-angled triangle at B 1 then find its area.

2016 Exam (10 ) Question(3)(b)

Prove that : the triangle whose vertices A (1 s~ 2) +B(-4,2)sC(1 46)
1s an isosceles triangle.

2016 Exam (15) Question (3 ) (b)
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Determine the type of the triangle whose vertices are A (-2 3) yB (1 - 1) and

C (1 »7) with respect to the lengths of its sides + then find its perimeter.
2016 Exam (1) Question(3)(b)

Identify the type of the triangle whose vertices are A (-2 s4) sB(3s-1) s C (4 +))

due to its sides lengths.
2016 Exam (11) Question(2)(b)

Prove that the points: A{3+-1)+B (=4 +6) and C (2 5= 2} lie on a circle whose
centre is M (= 1 » 2) » then find the circumference of the circle. (T =314)

2016 Exam (1) Question (5)(b)

Find the value of : a if the distance between the points (a2 s 7) » (2 a s - 5) equals 13
2016 Exam ( 7) Question (3 )(b)

| If the distance of the point (X » 5) from the point(6 « 1) equals 2 1,Ir";

s then find the value of X
2016 Exam (10 ) Question(5)(a)

If the distance between the point (X » 7) and the point (— 2 » 3) equal 5 unit length
Find the value of X

2016 Exam (14 ) Question(3)(a)

Ifﬁ{Iij}aﬂ{S tE}EII'IdCfE v 1)

Given that : AB = BC Find the values of X
2016 Exam (8 ) Question (5)(b)

Calculate the coordinates of the point C which is the midpoint of AB where : A(3 5= T)
and B (=5 +=3)
2016 Exam (13 ) Question(2)(b)

If the two points A= (2 s— 1) s B =(5 »3) Find :
(1) The length of AB

(2) The coordinates of the point C which is the midpoint of AB

2016 Exam (9 ) Question(5)(a)
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If C is the midpoint of AB where C (=3 sk) sA (h »~6) s B(9 y— 11) Find : k and h
2016 Exam (3 ) Question(4)(b)

If C is the midpoint of AB s then find the values of each of X » y

IFA{X +3)sB(6sy)and C(4 1+ 6)
2016 Exam (12 ) Question (3)(b)

AB is a diameter of circle Mif B (8 » 11} s M (5 » 7} » then find the ¢oordinates of A
2016 Exam (11 ) Question(3)(b)

InAABC sA (0 +8) s B (3 +2) sC(~3 +6) s AD is a median s M is a midpoint of AD
Find the coordinates of the two points D + M
2016 Exam (14) Question (4) (a)

Prove that : the point A (—=3 +0) s B (3 +4)and C (1 - — 6) are the vertices of
an isosceles triangle its vertex A » then find the length of the line segment which is
drawn from A and perpendicular to BC

2016 Exam (12 ) Question(4)(b)

ABCD is a parallelogram where A (3 +2) » B (4 +—5) + C (0 s = 3) find the coordinates
of the point of intersection of its diagonals » then find the coordinates of D
2016 Exam (2) Question(5)(b)

Ifthe poimts A(3 +2) B (4 9=3) s C (=1 s—2) s D (=2 » 3) are vertices of a rhombus
Find : (1) The coordinates of the point of intersection of the two diagonals,
{2) The area of the thombus ABCD

(3)m (£ ABC)
2016 Exam (5) Question(4)(a)

Prove that : the straight line which passes through the two points (4 22 ﬁ)

(5 +393 ) is parallel to the straight line which makes with positive direction of

X-axis an angle of measure 60°
2016 Exam (2 ) Question (4)(b)

| Prove that ; the straight line which passes through the two points (3 - 5) and (2 » 6) is
perpendicular to the straight line which makes with the positive direction of the X-axis
an angle of measure 45°
2016 Exam (1) Question(4)(b)
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Prove that : the straight line which passes through the two points (=3 +2) 5 (4 5= 5)
is perpendicular to the straight line which make an angle of measure 45° with the
positive direction of X-axis.

2016 Exam (14 ) Question(2)(a)

Prove that : the points A(5+ 1) sB(1 +»—3)+C(=5:3)»D (-1 + 7) are the vertices

of the rectangle.
2016 Exam (6 ) Question(2)(b)

If AB // the X-axes where A (5 s—4) s B (- 2 » y) Find the value of y
2016 Exam (6 ) Question (5)(a)

If the point A(D s k) s B {1 +3) s C (2 »5) are collinear » find the value of : k
2016 Exam (14) Question (4) (b)

It the straight line whose equation : a X — 2 y + 5 =05 parallel to the straight line
which makes angle of measure 45° with the positive direction of the X-axis »

find the value of a
2016 Exam (9 ) Question (3)(a)

| If the straight line L, passing through the two points (= 3 » 1) »(2 + k) and the
straight line L, makes with the positive direction to the X-axis an angle its measure is 45°
» then find the value of kif L, L L,
2016 Exam ( 7) Question (4)(b)

| Find the equation of the straight line which its slope is % and intercepts from the
positive part of y-axis 2 units,
2016 Exam (2 ) Question (5)(a)

1

Find the equation of the straight line whose slope equals 5

point (4 5 7)

and passes through the

2016 Exam (1) Question(2)(b)

Find the equation of the straight line which passes through the point (3 , - 5) and

whose slope %

2016 Exam (9 ) Question(4)(a)

| Find the equation of the straight line passing through the two points (2 = 3) and (5 s — 1)
2016 Exam (4 ) Question(4)(a)
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Find the equation of the axis of symmetry of AB where A (1 +3)and B (3 1 5)
2016 Exam (5) Question(2)(b)

| Find the equation of the straight line passing through the two points A (1 5 2)

+Bi(—1+6)
2016 Exam (5 ) Question(3)(a)

Write the equation of the straight line that passes through the two points
(2+3)and (-3 +2)
2016 Exam (12 ) Question (2)(b)

| ABC is a right-angled triangle at B such that A (1 s4)sB (-1 s-2)

find the equation of BC
2016 Exam (9 ) Question (5)(b)

Find the equation of the straight line passing through the point (3 +— 5)

and parallel to the straight line : X+ 2y -7 =0
2016 Exam (3 ) Question(2)(b)

Find the equation of the straight line passing through the point (2 + 3) and parallel to
the straight line : 2 X -y +5=0
2016 Exam (10 ) Question(4)(b)

Find the equation of the straight line which passes through the point (3 »— 5) and
perpendicular to the straight line : X+ 2y -7=0
2016 Exam (2) Question (3 )(b)

Find the equation of the straight line which passes through the point (3 » 4) and

perpendicular to the straipht line : 5 X -2y +7=0
2016 Exam ( 7) Question (2)(b)

Find the equation of the straight line passing through the point (1 » 5) and

perpendicular on the straight line passing through the twopoints A{3 s - [} B (-7 +4)
2016 Exam (13) Question (3 ) (b)

Find the equation of the straight line passing through the point (1 » 2) and

perpendicular on the straight line passing through the two points A{2 s—3) B (5 +-4)
2016 Exam (15 ) Question (2)(b)
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Find the equation of the straight line which passes through the point (1 » 6) and the

midpoint of AB s where A (1 5—2) s B (3 y—4)
2016 Exam (4 ) Question(2)(a)

| A straight line » its slope is % and intercepts from the positive part of y-axis two units.

Find : (1) The equation of this straight line.

(2) Its intersection point with the X-axis.
2016 Exam (10 ) Question(5)(b)

ABCD is a square where A(5 »4) s C (- 1 » 6) Find the equation BD
2016 Exam (6 ) Question(3)(a)

| AB is a diameter of the circle Mif B (8 5 11} s M (5 57) » then find :
(1) The coordinates of A
(2) The equation of the perpendicular straight line to AB from the point B

2016 Exam ( 7) Question (5) (b))

Find the equation of the straight line which intercepts from the coordinate axes
(X-axis » y-axis) two positive parts of lengths 3 and 6 respectively. Then find the area
of the bounded triangle by the straight line and the X-axis and y-axis.

2016 Exam (6 ) Question (5)(b)

ABC is a triangle where A (1.52) s B (5 5—2) » C (3 »4) » D is the midpont of AB
drawn DE // BC and intersects AC in E » find the equation of the straight line DE

2016 Exam (3 ) Question(5)(a)

If the two straight lines : X+ y =2 and 3 y + k X = 0 are parallel, find the value of k
2016 Exam (12 ) Question(5)(a)

Find the slope of the straight line 3 X + 4 y — 5 =0 and then find the length of the

intercepted part from y-axis.
2016 Exam (13) Question(5)(a)

If the ratio between the measures of two supplementary angles is 3 : 5
Find the measure of each angle by the degree measure.
2016 Exam (14) Question (3)(b)
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Calculate the slope and the intercepted part of y-axis by the straight line whose equation :
T +3y=6

2016 Exam (8 ) Question(2)(a)

| Find the slope and the intercepted part of the y-axis of the straight line :
X + A 1

3
2016 Exam (12 ) Question (5)(b)

The opposite table represents linear relation :

(1) Find the equation of the straight line. i

(&) Find the length of the intersected part from | y=f (%) | 1
the y-axis.

(3) Find the value of a

In the opposite figure : A
L, and L, are two parallel straight lines
» L., make with the positive direction of the
X-auis angle of measure 45° and passes of origin
point O s AEL, where A(1 +5) s AB L L,
+ L, cuts y-axis at the point C
Find : (1) The equation of L,

(23 The equation of L,

(3) The length of h_ﬁ

2016 Exam (5) Question(5)(a)

In the opposite figure : |

C is the midpoint of AB » where C (4 +3) .

B
(1) Find coordinates of each of the two points A » B

{2) The eguation of the straight line E
:':'H.

0
}_“1
2016 Exam (8 ) Question(4)(a)
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Essay Problems Answers

I Problem number [ 1] I

| A

wmiL B)=90‘ &
> 2 2 x "
L BCY=(5Y -3 =16
S BC=4¢am.
c
(@)tanAxanC= .g. % %. =1

(§)sin’A+sin2C=(_§.) 4.(%)2: _g & %=,

| Problem number [ 2] I

cos 60° sin 30° — gin 60° cos 30°

X el
Problem number [ 3]

2 sin 45° cos 45° + 4 sin 30° cos 60°

=2><Tl;-><71_2—+4x é * %—:2
Problem number[4]

8in 45° cos 45° 4 sin 30° cos 60° - cos” 30°

_ £y
S urira-l5)~4

2

-’-

w3 =
+=0

Problem number [ 5]

¥ .
4

tan’ 45° — 4 cos® 60° = (1% - 4 x(.&.)z

.1_4x.}.=o

Problem number [ 6]

cos* 60° + cos® 30° + tan® 45°
sin 60° tan 60° — sin 30°

@ (LY geze
ﬁ xﬁ— %

=3
I Problem number [ 7] I
. 005600 - _}r '

y cos” 30° — si‘.n2 30° = (‘—,f. )2 ca (_é.)2 -

= 1 0
2 2

1
4
(2)

From (1) and (2) : .. cos 60° = cos” 30° - sin” 30°

Problem number [ 8]

2
- tan® 60° ~ tan” 45° = (Y3 ) = (1)’
=3 — ] - 2 ()}

adsin3{1°=4><-%=2 (2}

From (1) and (2): .- tan® 60° — tan” 45° = 4 sin 30°

Problem number [9]

- 2 sin X = tan’ 60° - 2 tag 45°

Zsinx=(ﬁ)2—2x1

(i 2 3=2 Nk
..s:nX——’-—zi-

.-

Problem number [ 10]

< int 300w (4] = 1
+9 cos” 60° — tan® 45° = 9 x (%)"—(1)2

-§-1-4

From (1) and (2) :

- gin” 30° = 9 cos” 60° - tan” 45°
Problem number [ 11

.+ tan 60° =43

s 2tan 30 <« (1 - tan’ 30°)
rh

5 X =30

Problem number[12]
*' 5in 45 cos 45° + stn 30° cos &0°
TGS GRSy e 1 o3
’,ﬁ"{z‘*’f %’%*? a (0
3 2
1c08130'.(g) =% (Z)
From (1) and (2) ;
-\ 510 45° cos 45° + sin 30° cos 60° = cos” 30°
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Problem number [ 13 ]

- tan 60° =43
!

2 X

{3
()

lan60°-——2“°3°’
1 - tan® 30°

2 tan #° -
I —tan® 30°

b )

From (1) and (2) : .

Problem number [ 14]

I

ﬁ.)’_.

- _L

: 2c05230"-l=2x(

o1 ()

51—23i0130°=l (—%—) %z-% (2

From (1) and (2): .. 2 cos® 30° - | = 1 -2 sin® 30°

Problem number [15] ]

- AD L BC sAB = AC

Y BD=CD =6 cm. ..' 'i
InAABD: * m({Z ADB)=%" L
D

\

.. (ADY = (10)* -
S AD = 8 cm.

(1)L.H.S-sin B ¢¢05(_:=..§.

10*1%’ |4=RHS

('a)LH.S=sin2C+c:.»2C
‘(m (10) ""‘"“‘" o

I Problem number [ 16 ] I

3
£ (n

Zsin30°cos30°52x%-x£=—-

g P 2
¥3

sin H()° = —
» sin Ol 3

(2)
From (1) and (2] s 280 30° cos 30° = sin 60°

I Problem number [ 17 ] I

' sin 8 = 5in 45° cos 30° + cos 45° sin 30°
ﬁ 1 1.3+
2 212

. gin 8 ——

=

s B=75°

Problem number [ 18]
' §in X = tan 30° sin 60°
.sinX= <L x £ 1

ﬁ o

SAdcos Xtan 2 X =4 ¢os 0 tan 60)°
=4xl(2z'x45=6

Problem number [ 19 ]
*.‘2sin0-um’6?°-2tan45"
~2sin0=(Y3) -2x1=1

.-.sin():Jz- o B=30°

[ Problem number [ 20 ] |

' sl X = 2 sin 60° cos 30° - tan 45°

.'.sinx=2x1— r 1

—x—~l...2. S X=3¢

I Problem number [ 21 ] I

' X sin 30° cos® 45° = sin’ 60°

(Ly

5. X 3

R XX 75- X ({—'2_-)1::

Problem number [ 22 ]
-+ sin® 45° = cos E tan 30°

SN Pt
..(ﬁ)?ﬁ_‘s -

.'.cnsE-——i—— L E=30"

Problem number [ 23]

2008 (X + l$'}=ﬁ socos (X + 15° --g—

S 155 =480 S X=300
sotan 2 X - sin 2 X = tan 60% < sin 60°

l Problem number [ 24 ] I

'.'sinesh45‘ms45°tm60°=m245°z~om260°
sosin B x :f_z— x %xﬁ:(l)z - (%)

-2 6

ﬁ 2
=2

s sinB= SL=060°
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Problem number[ 25]

A
. 2AB=Y3AC . ‘:g f
let AB =3 length unit
»AC =2 length unit
-~ BC=1 length unit

smC=-"-;3— yeosC= L ’mC={;

\E3

Problem number [ 30]

InAABC:
m(l B)=%r (properties of rectangle)
= (BCY = (25 =(15°=400 .. BC=20cm.
(i) - sin (£ ACB) = % 3

» m{L ACBy= 36° 53 12

(2) The area of the reetangle ABCD =15 x 20
=300 em®

=

2

Problem number! 26]

Problem number [ 31]

[

s m{Z B}=90"
(D - (ABY = (5" - (3] =16
(E)msAsinC—slnAcosC=§-x%-.5 2
-§-3-%
cm(LC) =9 L (AC)Y =(10) - (8)' =36
S AC=6cm.
(Dtan B xtan A=
@ cosB=i%
s (2 B)=36°52 12

I Problem number [ 28] I

v o AR <3 N6
@ maC=gp &~ BT
4x6 _

S AB=4cm,
3.3

8

°x
6

£}

LBC= R em.
y o m(LBy=9%°
= (ACY = (8)% + (6)° -|oo ~ AC=10cm.

= 8 .6 \
(g)ssnA+cosA-|0+ —o- 14

I Problem number [ 29 ] I

(1)InAABC: ** m(Z B)=%°
2+ m(LCy=2m{LA)
Sm(LAY+2m (L A)=N"
SIMZAY=%®  om(ZA)=X°
SmiLC)=60°

(2)sin A + cos C = sin 30° + cos 60° --%«r%:l

InAXYZ:

w m (£ Y) =90° (properties of rectangle)
- sin 430 SXZ _ XY
XZ 10

S XY =108n43 =68 con.

XZ _YZ

XZ 10

A X2 = 1000542 =73 cm.

2 The pedmeter of AXYZ =10+ 68+73
=24.1 cm.

I Problem number [ 32] I

In AABC . - m (£ B) = %" {properies of rectangk)
LB =5V -3 = .. BC=4¢m.
(1)Tlxarwoﬂbemun¢lcm=4 x3= 12 cm’

@ 2

ycos43° =

5.
s m(Z ACR) =36°52 13

I Problem number [ 33 ] I

[InAABC:
" AB=AC N’\D.LE

». D is the midpoint of BC . BD=CD = 6 cm.
mAADC: . m(£ ADC)=%°

. AD =Y(10) - (6)

sin (£ ACB) = “E =

= 8§ cm.

)+

(1) sin” C + cos” Cx-(]u

-5 35
mo 100

6

+ sA =

10

6
10

=1

;

14 5

: -
(g)san+oosC-l0 0




( 31 ) Final Revision - Geometry - 3®.Prep - First Term

Problem number [ 34 ]

MN =40~ 7% + (4 + 3

=’{ 494+ 49 :ﬁ- 7ﬁlengﬂa unit

Problem number [ 35]
- AB=Y(4-37r+0-2¢

=Y 49+ | =¥ 50 = 592 length unit
sBC=Y{2+4) +(-1-1)
=Y36+4 =740 =2110 length unit
sAC=4(2-3F +{-1-2)
=Y1+9 =710 length unit
>+ (AB)’ = (BC)Y + (AC)
5 AABC is a right-angled tnangle at C
» 115 arca = % x2mxm- 10 square unit
Problem number [ 36 ]
sin 30° =%
AD =12 = 3in 30° =6 cm.

The area of (A ABC) = «&- x AD x BC

The arca of (A ABC) = i. %616 =48 cm’

Problem number [ 37 ]

~ ADBC>ABL1BC,DF.LBC

. ABFD is a rectangle - BF=AD =60 cm.

SFC=4cm.»
DF=AB=3cm, 3

From A DEC which

is right-angled at F ;.

(DCY = 3"+ 4" =23 L DC=5em.

" s a4 2 _1
~oeos (L DCB) tan(LA(,B)-S 0=

Problem number [ 38 ] I

A_-D/o' B—H +AB.1LBH -DH L BH
. ABHD is a rectangle
S~ BH=AD=6cm.

sCH=10-6=4cm, ¢
+DH=AB=3cm.

InADHC: " m{4Z CHD) = 9%°
~(CDY¥ =@ +(3°=25 LCD=5cm.

% cos (£ DCB) —tan (L ACB)= % - =1

Problem number [ 39]
AB=Y(-1-1Y +(-2-4)

=14 +36 =40 = 2710 fength unit

sBC =2 # 1P +(=3+2F

-19-0- 1 =m length unit

sAC =Y (2-1F +(-3=4F
=41+ 49 =450 = 52 length wnit
s (ACY = (AB) +(BC)
- AABC is a right-augled triangle at B
s its area = % %2410 x4 10 = 10 square units.

[ Problemnumber[40] |
- AB=Y (-4 -1y +(2+2)
=425 +16 =Y 41 length unit
sBC=Y(1+4Y +(6~27F
=m-ﬁl¢nyh vnit

y AC=Y(1-1) +(6 + 2) =64 = 8 length unit

S AB=BC . AABC is an isosceles triangle.

I Problem number [ 41] I

~ AB=Y(1+ 2P +(-1-3P
=mﬂ{2—ﬁ_- 5 length unit

yBC =Y(1=17 +(7 + 1)) =64 = 8 length unit

yAC =Y(1+2F +(7-3)
=V9 +16 =25 = 5 length unit

. AB=AC

s A ABC is an isosceles triangle

s the perimeter = 5 + 8 + 5 = 18 length unit

I Problem number [ 42] I

- AB=Y(3+2F + (<1 - 4)

=425+ 25 =150 =52 length unit

sBC=Y{4-3F +(5+ 1)
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=11+36={§5 length unit

yAC =Y (4 + 2P +(5-4¥
='3‘0+ | uﬁlﬁﬂsﬂ\m

S BC=AC . A ABC is an isosceles triangle
I_ Problem number[43] l

- MA=Y(-1-3F+(2+1)
=Y16 + 9 =125 = 5 length unit

yMB =Y(=1 + 4) +(2-6)
=mn‘h_§=5 length unit

yMC =Y(=1=2) +(2+2)
=m=‘{§=5 length unit

-~ MA=MB =MC

2 A B and C lie on the circle M which its
radius length is 5 length units

.. The circumference of the circle

=2xr=2 x 3.14 x5 = 31 .4 length unit

I Problem number [ 44 ] I

v 2a-aP+(=5-7F=13
V;’ + 144 = |3 "squaring both sides”

s at4144 =169 soat= 169 144
LAt =25 na=2Y25=15

I Problem number [ 45 ] I

Y(x—6P +(5—1P = 24 5 *squaring the two sides”
o (x—6 + (4 =20
LXPS12X+36416-20=0
LXE-12X432=0 L (X-4)(X-8)=0
L X=4 or X=8

Problem number [ 46 ]

V(x + 27 +(7-3F =5 "squaring the two sides*
A X+ 2P+ @' =25
AXT+4X+4416-25=0
AX244X-5=0 - {(X+3)(X-1)=0
LX==5o0a X=1

Problem number [ 47 ]
BC =Y(5-3F +(1- 2P =Y4 + 1 =Y 5 length unit
S AB -ﬁlength waut
~¥(x~3F +(3-2F =Y 5 "squaring the rwo sides"
AX- (=S L X -6X+9+1-5=0

X —6X+5=0
AlX-5)X-1)=m0 - X=mS orX=1

Problem number [ 48]

The coordinates of C = (252 »=—1=2) = (-1 1-5)

I Problem number [ 49 ] I

(DAB=Y(5-2F+(3+ 1P =Y9+16=Y25

= 5 leagth unit

o= (1452901 )

I Problem number [ 50]
y

v C1s the midpoint of AB
g\ (_3 3k)‘(h+9 ’-6—")

2 3

L Ll (IO (00 [, O

S 8% : 3

~h+9==6 Zh==15
Problem number [ 51 ]

- Cis the midpoint of AB

o (4 96)8(%2- !E—;-—y)

LX+6=8 . X=2

3
R

. n3+y=12 sy=9

l Problem number [52] I
‘A—Eisadiamctcrinthccircch
/. M is the midpoint of AB 1
< X+8 y+ll
LCtA(X’y)..(Sv'l)n(-—i W
";8=5 A X+8=10

S X=2

+ 11
’yz =7

Sy=3 LA(2:3)

Ly+11=14
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Problem number [ 563 ]
.- AD is 2 median in A ABC
= D is the midpoint of BC
. 3-3 2+6
..D'(—z—’—") (0 4)
, -+ M is the midpoiit of AD

| Problem number [ 54

~AB=Y(3+ 3 +(4-0P =Y36+16=Y52
= 2413 leogth unit
sBC=Y(1-3P+(-6-4P={4 +100=Y 104
-Zﬁlenglhum't
s AC=Y(1 + 3P +(~6-0)
=V16+ 36 =Y52 = 2y13 length unit
SAB=AC . AABCis an isosceles triangle.
wA_DlBT?
-AB=AC - Disthe midpoiot of BC
(3+: 4 )'[2, b

..AD:‘\[(2+3)’+(—1-0)’
=125+ 1 =126 length unit
Problem number [ 55 ]
lndtepcallnlogmmthetwocﬁagonals bisect
each other.
» Let M be the point of intersection of the two
diagonals.
3 - _(340 2-3
. "he coordinates of M = (232, 2= )
21
_(179"%)

LetD(X sy)
.‘.(l-%-v— ) (4;1 ’-S+’) S 4+x"l%

LA+ X=3

-5+y |
N
SD(-14+4)

Problem number [ 56 ]

' The two diagonals of
the thombus bisect
each other

(1)LetMbethepoint -
of intersection of the | |
two dingonals

¢ the coordinates of M = (12, 2-2) = (1 ,0)

(@)~ ACwY(=1=3F #{~2-2F
=116 +16 =132 = 42 length unit

yBD =§(=2=4)F +(3 + 3F

=136 + 36 =72 = 64 2 leagih unit

The area of the thembus ABCD
= _21_ xA4Y2 x6
(3) - The two diagonals of the rhombus are perpendicular
< In A AMB which is rightatM
AM *y L0
A }'r’
Som(Z ABM) == 33° 41 24
- The diagonals of the rhombus bisect its angks.
‘. m(£ABC)= 2m (£ ABM) =2 x33°4i 24
=67° 2‘148

| Problem number [ 67 ] I

3¥3-293 ¢
=T_ﬁ,n\2-mﬁ)‘ {—3-

t.l m' =m‘.
. The two straight lines are parallel.

I Problem number [ 58 ] I

o 6-5 _ < -
'm1=2_3 1>m, lEn45° =1

Somoxm,=-1x]==1}
. The two straight lines are perpendicular.

2 = 24 square unit

tan(/ ABM)=

m,




| Problem number [ 59]

= -5-2 _ ° o
Sm = = --I,m.zstan45 1

mlxm:--l xl=-1

=~ The twao struight lines are perpendicular,

Problem number [ 60 ]

- AB =Y (1 =5) +(=3-1F

=16+ 16 =732 = 42 length unit
yBC=Y(-5-1F +(3+2)°

=436 +36 =Y72 = 6Y2 lenpth unit
sCD =Y (=14 5F +(7-3)

.V|6+16-m-4ﬁlmgthunit
sAD =Y(=1-5F +(71=1¥ =Y 36 + 36

-m- 6ﬁ leagth unit

LAB=CD sAD=BC
<~ ABCD 15 a parallelogram
v AC=Y(-5-57 +(3-1)
=100+ 4 =Y 104 = 2426 length unit
sBD =Y(-1-1) +(7+3)
=Y4+ 100 =1104 = 226 length unit
L AC=8D ~ ABCD is a rectangle

I Problem number [ 61 ] I

'lbeslopeof.t’k_l.%':O
Sy+d4=0

I Problem number [ 62 ] I

;At s_;
T2 Bl — - ’—-—-.2
- m' l - 3 k’m., 2 l

Cm.=m o k=l

Problem number [ 63 ]
v Ly L,

s otand45°="4 O o
2 ! 2

Problem number [ 64

k1 _ ke _ .
m.-2+3- 3 ’mz_tan4$'_

K-B’ {{ the X-axis

oy =4

Tm = ll'.l2

Sam2

Semy X m, -1

I Problem number [ 66 ] I

'.’Thcslope-%
.. The equation of the straight line i : y = 7x+c
" (4 » 7) sanisfies the equation

7--%::41-0

.'.’lheoqumimonheslmighlineis;ya%x-o-s

I Problem number [ 67 ] I

 The slope = 3

.. The equation of the straight line is 1 y = %xu
" (3 »-5) satisfies the equation

A =-7-‘%
'Iiwa;uﬂionofﬁeﬁmishlhe'u:y:-g-x-?-}[

I Problem number [ 68 ] I

'+ The slope of the straight line = 5’ *23 = %

2. The equation of the strmight Iine is : y = %—x-o-c
v~ (2 9—3) satisfies the equation
.'.-3=‘§-x2+c .‘.c=-4%—
/. The equation of the straight finc is :
-4
Problem number [69]

'."l'heslopeofﬁ:%—’-—i:l =

. The siope of the axis of symmetry of AB=~ |

.'.ﬁeemnﬁmdﬂr.uisofsyrnnmyofﬁis:
y=—-X+¢C

,-.-mmdpamdxﬁz(l;:',a;s)

=N

. — =}_
=5 4x3+c

=(2 +4)
~ (2 »4) satisfies the equation 'y =- X +C
nd=-24c Le=0
’nnqmmofﬁweuisdsymnmydﬁis:
y=—X+6
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Problem number [ 70]

Tbeslopeofthestrmguhne—bl—zl-—2

.~ The equaton of the stight incis; y=-2 X+ ¢

» .~ The straight line passes through the point (1 5 2)

soe=4

. The equation of the straight line is :
y=-2X+4

I Problem number [ 71 ] I

“* The slope of the straight line = _23-_32 - .&,

. The equation of the straight line is ;
ye %—xQC
(2 1+ 3) satisfies the equation
aln%xz*c

S2ma2%w]l 4

Ry §
..l.-Z5

= The equation of the straight [ine iz :

y= -}x v ‘2%
I Problem number [ 72 ] I

mslopeofAB_'f I=3

.'.'meslopeofBC-—-al

“nequaﬁonofﬁis:y:-%x”
B (=1 y-2) satisfies-the equation of BC

A A <:f=—2l
T‘beequationofBCn y= ——‘x 2'

Problem number [ 73 ]

-+ The slope of the given straight libe = =-

. The slope of the required straight line = --%.
. The equation of the required straight line is :

--x I+¢

yz-l—JCﬂ;
‘."I'hcsu'aightlincpawcslhmughthepoim:

(3+-95)
- -:_I- N -2 .z—?l
..-S-2x3+4. ok - 35

. The equation of the required straight line 15 :

y=—%X—3

Problem number | 74]

ﬂreslopeofthegwensumghthne-—f=2
. The slope of the required straight line = 2
7+ The equation of the required straight line is :
y=2X+¢
'+ {2 9 3) satishes the equation
L3=2x24¢C
~. The equation of the required straight line is :
y=2X-1

Problem number [ 75]

- The slope of the given straight line =

R e T |

2
. The slope of the required straight line = 2

. The equation of the required straight line is :
y=2X+c
2 {3 » - 5) satisfies the equation

S=5=2%x3+c¢ Secm-11

2+ The equation of the required straight Line is :
y=2X-1

Problem number [ 76 ]

.- The slope of the given straight line = = _5 - .g_
The slope of the required straight line = .52
~. The equation of the required straight line is :

y==-53)c¢c

s “* {3 +9) satisfics the cquation
.*.-S:—-'S‘3 »3+c .~.c=$%
< The equation Of the required straight line is

y—‘2x+s.'5

I Problem number [ 77] I

. The slope of the required straight line = 2

. The equation of the required straight line 18 :
y=2X+¢

» +* (1 » §) satisfiea the equation

L 5=2x14%¢ se=3

~. The equation of the required straight line is
y=2X+3
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I Problem number [ 78 ] I . The equation of BD is : y = 3 X - |

.~ The siops of the given straight line = —: "23
1
3
2. The slope of the required straight line = 3
2. The equation of the required straught line is -

L

y=3X+c
“* {1 »2) satisfies the equation
SHcm=-]
.+ The equation of the required straight line is :
y=3Xx~1
Problem number [ 79 ] ]

« The midpoint of AB=( 1+ .-27-4)=(2 »-3)

2
By . o Y
..ﬁesbpedﬂwmghﬂme-l ==-~0

S lm3IX1+e

. The equation of the straight line is ' y=~0X+¢
(1 »6) satisfies the equatian

SLE6=—0x1l4c Le=15

.~ The equation of the straight line is
y=—9X+15
|_ Problem number [ 80 ]

y= -%X+2

(DPuty=0 20=1x+2

%x--z LX=—4

. The intersection point with the X-axis is
(-4 >0)

Problem number [81]

AN Y

ThcslopeofAC _1_5 & =r2

s *. The two diagonals of the square are
perpendicular.

. The slope of BD =3

.'.'l'heeqmiono(.BBis:y=3x+c

** The coordinates of the midpoint of AC
=‘5—’1—’-6—;—'1)-(_2 v 5)

“ (2 + 5) satisfies the equation of.B_ﬁ

LS5=2x3+c sLe=-1

L Problem number [ 82] I

(1) -+ ABis a diameter of the circle
s M is the midpoint of AB let A (X 5 )

(5 sy =(Xx8 y1 . X+8 _
25 sn=( £, 2) £ X285

G X=2

L X+8=10
Ly+ll=14
-~ The slope of AB=

L yY=3
135_

8-2 .3

. 'The slope of the required stright line = —= 43

v+ The equation of the required straight line is
y=f43x+c

* B (8B » 11) satishies the equation

.-.11--‘-4-3-x8+c se=1?

. The equation of the required straight line is -

v_—-3-x+n

| Problem number [ 83 ] I

*.* In the parallelogram the two diagonals bisect
each other.

l Problem number [ 84] I

slopeofBC-ﬁ-‘%-_a
mslopeofDE--3
T'heequatimofDEis-y-—31+c
 Distbe midpoi: of AB =+, 2?):(3 +0)
{3,0) sansﬁestbeequanonofDE

=-3x3+¢ ne=9
.'.TbcoquauonofDEis:y-—--3x+9
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I Problem number [ 85 ] I (2) One unit of the pegative part of y-axis

=1 -k
‘m GT--I an-— s
.~ The two straight lines are paralle]
m =m, ..--lx:—-3L Sk=3

I Problem number [ 86 ] I

s the length of the intercapted part of y-axis
- -3 = 5 1
|‘| z—lencthum

I Problem number [ 87 ] I

- Let the measure of the two anglesbe 13 X +5 X
L3X+5X=180" ~8X=180° - x=2230

». The measure of the two angles are -
67° 30 5 112° 30

I Problem numberi 88 i I

3y‘=-;-+6

e I
; 2+3y 6

—_...x.. ’ -
=-%+2 . The slope %

and the intercepted part is 2 units from the
positive part of y-axis.

| Problem number [ 89 ] l

= | "multiplying by 2"

» the intercepted part = 2 units from the positive
part of y-axis

(0 The slope of the sraight i => = 2
. The equation of the straight lineis: y =2 X+ ¢
. The point (1 » 1) E the straight fine
L1=2x1+¢ Le==1

* The equation of the straight line is : y =2 X~ 1

(3) *- The point (3 »a) satisfies the equation
La=2x3-1=5

| Problem number [ 91] |

(1) Theslopeof L =tan45° =1
» ** L, passes through the origin point :
. The equation of L is:y =X
@ L L, The siope of L, = |
~. The equation of L, is 1y = X'+ ¢
st {1s5) nﬂsﬁcsthccquuiono“.z:
SS5=1+c Le=4
< The cquation of L sty =X + 4
(3)Let B (X sy)
"~ B satisfies the equation of L : -
o AB.LLI ..TbcsbpeofAB--l

.’.-i%—sl--—l Sy=5=1-X
wX=y LX-S=ml-X
n2X=6 L X=3
soym3 ~B(3+3)

L AB=Y(3-1P+(3-5)

rmnﬁn Zﬁ knglh unit

[ Problem number [ 92]

(D) LetA(X+0)»B(0»y)
-+ C is the midpoini of AB

-~ 4 ,3)___(X;0 ’2—;—’)

nXug LX=8  LAEB>0)
.. —
) ",--3 --y-6

(2) The slope ofAB-!‘__0 T

2 The equation of ABis: y= -?x+c
(0 » 6) statisfies thcequauonofAB

.'.6---3-x0+c .c=6
.'.TheeqmumofABw y=- %x+6

B{0+6)
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